FEY—7 ASNER ¢ 1x$2, 3¢5, 6XF1. 2%F3. bXi6
7av2|a—+ [NO. K4 T iE AHE |#EKFH | HEBA | AL B — | B8R e - L#E | NEfL
1BEHE U7Lyya 6 -1 4 -6 1-1 [10-7=3 2
5 2|k FHA TITIZA 1-6 4 -6 0-2 - = 5
Al - 3| HE BA 7Y — 6 -4 3-6 1-1 |9-10=A1 4
© 5|71 #5— CATC 6 -3 4 -6 1-1 |10-9=1] 3
JEyIE=A TMP team 6—4 6 —4 2-0 - = 1
7av2|a—+ [NO. K4 T iE WA MR | WA BUL | D08 X A b — L JBfi
T|807K BER 7Y — 6-0 6 -1 2-0 - = 1
cC | 7 8| R A BUL Nz BN 0-6 2-6 0—2 - = 3
9|8 HEK COCO tennis| 1-6 6 —2 1-1 - = 2
7av2|a—t [NO. K4 g WA FEZ | MEE | EF OA A b — L [=tivi
10| AR B 7Y — 1-6 3-6 0—2 - = 3
D | 8 11|HH ZE 774048 6-1 6 -0 2—-0 - = 1
12|28 fMIA 27 = 6—3 0-6 1-1 - = 2
7av2|a—t [NO. K4 T iE N IR | Bk A | RN EE A b — L [=tivi
13|18t AR COCO tennis 6-0 6—3 2-0 - = 1
E | 9 14|%@7K FIF UDON 0-6 2—-6 0-2 - = 3
IESIE 7Y — 3-6 6 — 2 1-1 - = 2




7857 [a—+ |[NO. K% g KEFRE | SHEM |[REFABE| BX T— L= [=Hiva
16|7k8 B& ANEa=TZRITT 6—-0 6 -0 2—-0 - = 1
F | 10| 17|5H EH TMP team 0-6 4 -6 0-2 - = 3
BFRFEHEEZ |7-7xvh 0—-6 6—4 1-1 - = 2
7857 [a—+ |[NO. K% & W ERE | ke —8 | RS & e g — L= [=Hiva
19|k 7R P& TS5V YR 6 — 0 6 — 3 20 — 1
G | 11 | 20\7k@ —i COCO7=x| 0-6 0-6 0—-2 - = 3
21| R & 7Y — 3—-6 6 -0 1-1 - = 2
7857 [a—+ |[NO. K% @ =H ER | XE F7 |BHE St B g — L= [=Hiva
22| 5 H & F-OIFE 6—-5 3-6 1-1 - = 2
H | 12 23| XE =7 Nikki b—-6 0—-6 0—-2 - = 3
24| BAEE M |7V — 6—-3 6—-0 2-0 - = 1




